Johnson System of Distributions — Statistics — Prof. Richard B. Goldstein
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In Microsoft Excel©
F(x) is found using NORMDIST(LN((x-0)/m), 0, G, 1)
t is found using 0+m*EXP(c*NORMINV(P, 0, 1))
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In Microsoft Excel©

F(x) is found using NORMDIST (o, + 0, LN((x-p)/(g-x)),0,1,1)

t is found using

cell#1: EXP(NORMINV(P, 0, 1)-a;)/a2)

cell#2: (q*cell#1+p)/(cell#1+1)
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In Microsoft Excel©
F(x) is found using NORMDIST(o;+ 0,ASINH((x-p1)/6),0,1,1)
t is found using p+o*SINH((NORMINV(P, 0, 1)-a,)/ay)
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The (y;, 72) plane for Johnson distributions

Johnson System of Distributions

9
8
7 //
6 /.f
SU Distributions
3 al &
E*T 1 Diskripfitions
2 3 f/
£ 7 ,/
< 1 ##____./ SB| Distributions -
-'___,_pr""' T
0 ——" — sl
1 -1
-2 [ P —r No Passible Distlilrution

0 _I].E 04 06 08 1 1.2 14 16 18 2

Skewness - '}‘1



